
Basic Concept of numbers from Ten to Twenty 

1. Put the sign >, < or =. 

a. 16  14 

b. 15  15 

c. 18  16 

d. 14  15 

e. 18  18 

f. 15  9 

g. 20  10 

h. 11  18 

2. Which equation matches the sentence? Tick (✓) the correct one. 

a. Eighteen is equal to eighteen. 

 i. 18 > 18     ii. 18 = 18     iii. 18 < 18  

b.  Thirty five is greater than twenty five. 

 i. 35 > 15     ii. 35 = 25     iii. 35 < 25  

c. Fifty seven is less than seventy five. 

 i. 57 > 25     ii. 57 = 25     iii. 57 < 25 

3. Colour the fruits in the box which are one less than the given set. 

 

 

 

 

 

 

 


